
A.⇒ I:D
2) 7t3-thx
3) If" fkbtected ER

,

then Ptt) = aCEZIHBCEIK DEI
1- Catbtctd) I

* it spans .
If a CELIHBE-Htctt-H-d-fzeropdgnom.ae,then a=b=C=d=o , so it's LI .

4) 74271 - LEAHY
= Ft
'
- Et IT- 6)

5) FEEL



B
.

It [37-5]
2) It is a null space

.

" I
' it .

4) -43④ LAFITTE:Is. in,
5) Ez] ←

6) NO ; it's notinH



C. 1) no ; not aviatrix
" E÷
3) no ,notasetof rotors

FHA
6) If EE EE;)

,
E- batheEsteeGbs

,

* AEVIE Gb±tGbztGbB=I .
⇒ ED
8) ED .



D
.

omitted ; see (6) above .

E
.
dim colt =3 ; dina NellA- 2 .

F. H 4 5) linearly dependent2) 2 6) no
3) no 7) 4
413 8) S4

G
. Given afinite setof polynomials ,they all have degree SUNfor some N.

Ther the span Bcontained in PN
,
so tht is not in

the
span .

Thus
,they can't spar P.

Hit it , it'T -
-
- h is a bass.

H .
It Because the Is spar .

2) More columnsthan rows ⇒

hang equation has a solution .



3) Ez bjwj -- EEE, aijbjvie
' EE t.Eaijb.DE -

- e
.

4) yup .
5)⇒ IF BE are bases

,

BB B LI &E spans so#BE#E . LibauBe , Pagans &
E LI so #B Z#E .

Must be equal .
2) A basis is LI, so clear.
3) A basis gnus, so

dear
.

6) A basis for H is a LIsubset

of r, sand a bias for V gains Y
so it follows .



I. 17 ColHBK { ABI I * ERK)
ColeAl -- say life 3 ?
A- BE A CBH

,
B± ERM

.

2) Follows from th and
dim of a subspace EdmLagace .

3¥ Shouldsay
NowB)EUNABI :

f IE NUU B, 13*-0, so ABE-Ae.ie.
4) dim Null C# Edin Nutt A-B)

⇒ K- dim Noll CREEK- din Null HBJ
⇒ rank (B) Z ranKCAB)

.

5) Not always ie.gr#B--L8Ef . .



J
. 472 If S

E
, Yusuf ED,

than Zai sit by -- O some siES
,

Sarah ugh Hall zero. IFN b --o
,
ten

S B LD c so bEO.TW , we

can solve for I as a line combo
.

of Esih , so I Espen S -

2) If S spans
V
,
and S is LD

,

we can write Zai 0 some sees,
{ailed all Zero. Then, we can
solve far gone so as a tin .

combo
.

of the others .

then
-

any
linear combo

of 5 can be written as a linear
combo of sina.z.by substituting, soSissi spans r.


